A ELR

AHFHE - AR EESWICR 2 RN ER 2R,
IEIZ, AT O E 7o T 5,

o (EMATLE Y 0 7T Ly — 2 (EFRE K
> applyregexp.py  (LAT OALEE D FEST)

< regexpld.py CHCORE"  H)

< regexpl6.py CHRFEDEMEIE" H)

< regexpl8.py CZ oI ETRE LS A
< regexpOther.py (EReLt o4 CH)

o W rEHT %%y MERT R T LY —R
» TFIDF

LSI

Word2Vec

Doc2Vec (PV-DM / PV-DBOW)

YV V V

& NHHRYEIwIsTLY—R
» fit_and_predict_xgboost.py
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from my_util import exec_time ﬁ%ﬁﬁﬁﬁ&ﬁ7ﬂ75b
(apply_regexp.py)

from datetime import datetime
import re

import regexpl4

import regexpl6

import regexpl8

import regexpOther

import copy

@exec_time.printer

def main():
regsl4 = regexplé4.get()
regslé = regexpl6.get()
regs18 = regexpl8.get()

regsOther = regexpOther.get()
max_cnt = 0
fis = open('./01_new_shibo_join_kv.csv', 'r')

fos = open('./02_new_shibo_join_kv2' + ( '' if max_cnt <= 0 else '_' +
str(max_cnt) ) + '.csv', 'w')
f_removed = open('./02_new shibo_join_removed _words' + ( '' if max_cnt <= 0
else '_' 4 str(max_cnt) ) + '.tsv', 'w')
cnt =0
for sbh in sbh_data_generator(fis):
cnt += 1
if cnt == max_cnt: break

rowid = sbh['rowid']

values = sbh['value']

# 14,1: vCREA I73%A 14,2: ke CERE IZHEE 14,3: ECEREA IA%ER 14,4:
BTREA I-rH/BE 14,5: ECER IT%RE 14,6: ZRCER IVHEE 14,7: %ECHERE IT
R 14,8: FACERE ITHIE 14,9: %ETERE oA 14,10: RCERE oHIE 14,12: %t
TERRE F 14,14: RCRE FHEAE 14,16: RTERERE @S 16,4: BEIRELE
35 ZOfh 16,8: FERWMKRR 17,1: &% 1EK5E M 18,1: ZofidE 99,1: wE

# for sbhnum, sbhnum2 in [('14', '12'), ('14', '16'), ('16', '4'), ('16"',
'8'), ('17', '1'), ('18', '1'), ('99', '1")]:

# 18,1: ZOMifFE 99,1: HE

for sbhnum, sbhnum2 in [('18', '1'), ('99', "1")]:

col = copy.deepcopy(values[sbhnum] [sbhnum2])
for k in col.keys():
if k=='colnum': continue
value = coll[k]
if len(value):
org_value = value
# 1ABDIERFRIFT/IN—X
for r in regsl4:
# 140XYIDAEZ [coll4] TEMRT S
t = fw_reg(r[0]).subn(r[1], value)
if t[1]: value = t[0]
# 16D IERFRIFT/IN—X
for r in regs16:
# 16DXYIDAIEZ [colle] TEHRT S
t = fw_reg(r[0]).subn(r[1], value)
if tl[1]: value = t[0]
# 18HDIERKITT/IN—X
for r in regs18:
# 18DXYIDAIEZ [col18] TEHT S
t = fw_reg(r[0]).subn(r[1], value)
if t[1]: value = t[0]
# FEUNBOERKIRET/I—R
for r in regsOther:
# XYUIDNMEZ [colxx_0] TEHRT S
t = fw_reg(r[0]).subn(r[1], value)
if t[1]: value = t[0o]
# A7UwvH ([colxx]) THYID 3
value_arr = fw_reg(r' (\[col["\]]+\1) ([~(\[$)]*)").findall(value)
if value_arr:

len14_1 = len(values['14']1['1']) - 1
len14_2 = len(values['14']['2']) -1
len14_3 = len(values['14']1['3']) - 1
len14_4 = len(values['14']['4']) - 1
len14_5 = len(values['14']1['5']) - 1
len14 6 = len(values['14']['6']) - 1
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len14_7 = len(values['14']['7']) - 1
len14_8 = len(values['14']1['8']) - 1
len14_9 = len(values['14']['9']) - 1
len14_10 = len(values['14'1['10']) - 1
len14_12 = len(values['14'1['12']) - 1
len14_14 = len(values['14'1['14']) - 1
len14_16 = len(values['14'1['16']) - 1
len16_4 = len(values['16']['4']) - 1
len16_8 = len(values['16']1['8']) - 1
len18_1 = len(values['18']['1']) - 1

# OPTIMIZE: WolcAMBABUTERKRRIEIZIETRATIY v I ZETIT S
# NOTE: {7 &ICEBDERKRZMHEO-HTw_regaER LR,
splited_value_regexp = '(' + fw_reg(r'\[col[™\]1+\]").sub(r")
(.%?', value) + ')’

splited_value_arr = re.findall(splited_value_regexp, org_value)
for i, (spliter, v) in enumerate(value_arr):

# EREETI DY

tmp = fw_reg(r'~(1&)? "(.x)) (THS)7(, )7$").search(v)

if tmp: v = tmp.groups()[1]

v = fw_reg(r'( (#<) )?2\n?$").sub("'", v)

if spliter == '[col18_topl':
sbh['value']['18']1['1'][1len18_1] = v
lenl8_1 += 1

elif spliter == '[col18]"':
sbh['value'1['18'1['1']1[1len18_1 + 100] = v
lenl8_1 += 1

#elif spliter == '[coll6_4]1"':

# sbh['value']['16']['4"] [lenl6_4] = v
# lenle_4 += 1

elif spliter == '[coll6]' or spliter == '[col1l6_8]":
sbh['value']['16']1['8'][len16_8] = v
lenl6_8 += 1

elif spliter == '[coll4_1]":
sbh['value']['14']1['1'][1len14_1] = v
lenl4_1 += 1

elif spliter == '[coll4_2]":
sbh{'value'l1['14']1['2"']1[1len14_2] = v
lenl4_2 += 1

elif spliter == '[coll4_3]":
sbh['value']['14"']1['3'][1len14_3] = v
lenl4_3 += 1

elif spliter == '[coll4_4]":
sbh['value']['14"']1['4'][lenl4_4] = v
lenld_4 += 1

elif spliter == '[col14_5]":
sbh['value']['14"']['5']1[1len14_5] = v
lenl4_5 += 1

elif spliter == '[coll4_6]":
sbh['value'l['14']1['6']1[1len14_6] = v
lenl4_6 += 1

elif spliter == '[coll4_7]":
sbh['value']1['14']['7'1[1len14_7] = v
lenld_7 += 1

elif spliter == '[coll4_8]":
sbh['value']['14']1['8'][1len14_8] = v
lenl4_8 += 1

elif spliter == '[coll4_9]":
sbh['value']['14"']['9']1[1len14_9] = v
len14_9 += 1

elif spliter == '[coll4_10]":
sbh['value'l['14']1['10'] [lenl14_10] = v
lenl4_10 += 1

elif spliter == '[coll4_12]":
sbh['value']l['14']["12']1[1en14_12] = v
lenl4_12 += 1

elif spliter == '[coll4_14]":
sbh['value']['14']1['14"'] [len14_14] = v
lenl4_14 += 1

elif spliter == '[coll14_16]":
sbh['value']['14']1["'16"'] [len14_16] = v

lenl4_16 += 1
else: # CZETIKAEBULBWRATY Y HIDNEIFIETS
f_removed.write(rowid + '\t' + spliter + '\t' +
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splited_value_arr[0] [i+1].rstrip('\n") + '\n")
# YD DT I T ORICIERT
try:
sbh['value"'] [sbhnum] [sbhnum2] [k]
[1+)").search(value).group() + '\n'
except AttributeError:
sbh['value'] [sbhnum] [sbhnum2] [k]
sbh_data_writer(fos, sbh)

fw_reg(r'~([™\

l\nl

fis.close()
fos.close()
f_removed.close()

def sbh_data_generator(fis):
1 = fis.readline()
bef_rowid = l.split(', ") [0]
sbh = {'rowid': bef_rowid, 'value': {}}
while 1!="'":
rowid, colnum, sbhnum, sbhnum2, colrownum, value = l.split(',"')
if bef_rowid !'= rowid:
yield sbh
sbh = {'rowid': rowid, 'value': {}}
# ¥F—Z2ZXELTdicticd s
# sbh.update({'rowid': rowid, 'value': {'sbhnum': sbhnum, 'value':
{'sbhnum2': sbhnum2, 'sbhnum': sbhnum, ‘'value': {sbhrownum: value }}}})
# sbh.update({'rowid': rowid, 'value': {sbhnum: {sbhnum2: {'colnum':
colnum, colrownum: value }}}})
if not sbhnum in sbh['value'l: sbh['value'l] [sbhnum] = {}
if not sbhnum2 in sbh['value'l[sbhnum]l: sbh['value'l [sbhnum] [sbhnum2] =
{'colnum': colnum}
sbh['value'] [sbhnum] [sbhnum2] [colrownum] = value
bef_rowid = rowid

1 = fis.readline()

yield sbh
def sbh_data_writer(fos, sbh):
# rowid : new_shibo_join.tsvD5BEAHT L, 7TEDID
# colnum : new_shibo_join.tsvDhZLES
# sbhnum 1 ETZMEDOHEE S, new_shibo_join.tsvICIXBEELRL,
# sbhnum2 : FETEEEORESDKREFES. new_shibo_join.tsvITIFFELERL,
# colrownuma: FECZEEDOEES. BKES L DORNAIERITICEZBEDTES.
# value : new_shibo_join.tsvD25h > LABLEDIE,

rowid = sbh['rowid']
out_arr = [1]
for sbhnum, sbhnum_col in [(str(sbhnum), sbh['value'l[str(sbhnum)]l) for
sbhnum in sbh['value']l.keys()]:
if sbhnum == 'rowid': continue
for sbhnum2, sbhnum2_col in [(sbhnum2, sbhnum_col[sbhnum2]) for sbhnum2
in sbhnum_col.keys()1:
colnum = sbhnum2_col['colnum']
for colrownum, value in [(colrownum, sbhnum2_col[colrownuml) for
colrownum in sbhnum2_col.keys()]:
if colrownum == 'colnum': continue
out_arr.append([rowid, colnum, sbhnum, sbhnum2, str(colrownum),
valuel)
out_arr.sort(key=lambda item: (int(item[1]), int(item[4])))

bef_colnum = out_arr[0][1]
1=",".join(out_arr[o])
for l_arr in out_arr[1:]:
if bef_colnum != l_arr[1]:
fos.write(fw_reg(r'( (<) )?2\n?$").sub("', 1) + '\n')
1=",".join(l arr)
bef_colnum = 1 arr[1]
else:
1 = L.rstrip('\n') + 1l_arrl[5]
fos.write(1)

fw_reg_cache = {}
def fw_reg(p):

NHTEET 2/7 =2 F Y/ IIL UL TR,
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KD CCIRWINY —VIEFv Y ambiRY,
try:
return fw_reg_cache[p]
except KeyError:
r = re.compile(p)
fw_reg_cache[p] = r
return r

if __name__ == "'__main__':
main()
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10

11

12

13

14

15

16

17

18
19

20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35

36
37
38
39
40
41
42
43
44
45
46
47
48

EEREILE 7O 5 L
def get():
return [[r' (71 4) 2([——— T (1201 |1|I|1 (LT M27)+([1) DD D)2

(FER)+(H|Z> | 5A)? %n%VDjé 7”3”([ vo * i, ——) 1)?',r'[coll4_1]"'],

[r' (214) 2([———— T (1)2(1 |1|I|1 (rr (]) ( )+([1) ])NFI:tde)l
D | )?(,HHFEEJIfﬁﬁElleﬁIfﬁlﬁEllﬁlEl) Tﬁiﬁ|7/|b/u mE|22E)20)2 (0 o -1,
——) 1)?',r'[col14_2]1"'1,

[rt (71 4) 2([———— T (1)2(1 |1|I|1 (r™a +([J ) D2 ) )?(FER)+
(B ZV|5A)?UEE | 2DE)?2(IF ) ([ o t i, ——) ])? r'lcol14_31"'1,

[r' (214) 2([——— T (1)2(1 |1|I|1 (LT a)? (4) ([1) DH?2(‘kCETOD|
D | )?(EIEFEEJIEHEIIEHIEIEEIIEIE TI%%|7/|'9A, (= |22E)201F)2(0 o - 1,
———) 1)?',r'[col14_41"'1,

[r (71 4) 2([———— T (1)2(1 |1|I|1 (L™ 2(2) +([J ) ])?(0)| [) )?7(3ER) +
(| Z|5A)?UEE | 2DE)2(1F ) ([ oo - —) ])? ,r [c0114 51'1,

[r' (214) 2([—— T (1) 1|HIh (LT M2 +(L) 1) %tiT®|
D | )?(EIEFEEJIEHEIIEEIEIEEIIEIEI Tfﬁ|7/|b/u ‘ﬁ%b’)%) ( )?2(0 o -,
——) 1)?',r'[coll4_6]"'],

[r (71 4) 2[——— T (M)2(1 |1|I|1 [ r(z (I)+([J ) 1) 0)| [) )?(3ER) +
(B Z>|5A)?UEE | 2DE)2(1F )?([ - )])? r' [c0114 71'1,

[r' (214) 2([——— T (1)2(1 |1|I|1 (L7 M2(T) +([J ) 1) &T:ti?oﬂ
D | )?(EIEFEEJIEHEIEHIEIHEIIHIEI TF%J|7/|':>/U %%DD% ( )?2(0 o - 1,
——) 1)?',r'[col14_8]"'],

[r* ?214) 2(([———— T (] 2(212)n|d)+ (1) D2(D] )?2GER)+(E|Z> | 5A)7
(=2 2E)20)2(0 .« o ———) 1)? (rﬁr%)?', '"[col14 91'1,

[r'U14)7[————r(] 2|ﬂnm (1)1 N%ti?@th)N%@kﬁ
EEIEHIEIHEIHIEH ﬁ|7/|b/u ‘MED’D% UL o o, ——) 1)2(UBIR
#)?',r'[colld_10]1"']1,

[r' (214) ?(T&ﬁqﬂ?)?([————, . UDI )7 (BRE) + TF§|5>|5/D| )2 EEMR |FT
B)2(o] )2(@E|229)2( )2 o -, ——) 1)?', r'lcolld_16]'1,

[r'U14)?ﬁ$ﬂ?H——-—\ 2(D] )72 %%m%ﬁﬂu&UE%%%LMH%ﬂm
*UlHHF‘EﬁlﬁﬁEIIEHIEIEEIHIEIIBEFIEI Tﬁﬁ|7/|b/'u)7 D] NEEE|2DE)(F)?
([ —) 1)?', r'[col14_12]1"'1,

[r' (71 4) 2(@h)2([————— T ( ])7(0)| ) ? (FAiTERRE | FMER B | FTER | FHiT
fFI%fTJﬁEII%TTIH|¥1TIE1|¥1TIﬁEﬁEI) (ﬂ%ﬁ)?(h ) D2 )?2(mE | 2DE)?2(IF)?
([ «o =, —) 17, r [coll4_14]1'1,

[r'( (14) )+(¢ﬁ%ﬂP? D] N([———— ( . D?(BEOTH T LicEE)?2(HKE |22
=)?201) 2 ([ - —) 1) ?',r [c0114] ]

[F' (14) (1[1Ti]212]n|8)?2([———\ - 1)?( T (7) BEER, | T (1) (7) ®

FRE, | T (9) (1) oFRE) | T (xT) (’7) DEFER; | "IRICEEEZRIZILIEREE )?
(| )?2( "FETETOHRB, )+( )?',r'[col14]! ]
[r' (271 4) ?2(Ffi7 - B3 | F@Es+( )72, [c0114]'],

[r (71 41 ( 1|2|3|4|5 )?) 7(1&5|5 |5 2(/mE | DDEF) 2 (HE) (1) ?
([« ,o—=) ]) ,r'[col14]'11#9%E %EL\B(DJ;GD:F I <
aEvj—}Iz_([ N 2, —) 1)

def _assert(r, s):
import re
# [print(re.subn(rr[@], rr[1]l, s)I[1]1) for rr in rl
print('FAHEI" + s + ']")
result = "'
for rr in r:
t = re.subn(rr[0]l, rr[1], s)
if t[1]:
if len(result.replace('0', '')): print('#&&E[" + s + '1")
= t[0]
result += '1'
else:
result += '0'
# 1 = list(filter(lambda result: result[1] > @, [re.subn(rr[@], rr[1], s)
for rr in rl))
print('#XR[' + s + '1\n")
# print([result[0] + '\n' for result in 1])
return len(result.replace('0', ''))

if __name__ == '__main__
= get();

P rint( ! F';ﬁilﬁ R — )
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L) ot cett) F%ﬁﬂukii7nﬁ7h (regexp16.py)

2 def get():

3 return [Ir' (216) 2(+F?2)2( )?) ?2([ (1)?(H%E K> |8L)([ « -, —
=) 1)?', r'lcoll6]l'],#1 6 DiEHRE LT

4 [r' 216) 2(8@F2)?2([——® T])?2(EE|EE|ET)? %Elb\%ibt“ﬂi (B | BEF
ZlJlﬁ%ﬁj\lt‘a‘|H§F‘aﬁ)+(TE%).([UJ 011 7(%%I%LI’D’D§|JE;.E|H%/\ 2 er oo, —=
—) 1)?', r'lcolil6_4]1'],# %b\%ibtﬁ%ﬂt LT

5 [r' ?16) ? ﬁqﬂ?)?([———@ 1) 'Eilﬁ’zilﬁt 7(%$|b\%$bt|bh (B | B+
(2l O 1 1) ‘m%lﬁr)jéh_uﬂl 2oL 0, == 1)?
r'lcoll6_4]1'1, HEEN T LI BY & bﬂﬂatﬂ

6 [r* (16) (#+7?)2( ) (%EEx&ZMj(,RHNRI%&%&OU@R) (W2l G 1)?20H%E|

| 2DE|BE)?(IcsW\WT | . s, =) 1)?', r'lcolle_8]1'],#FEBRRITE L
THHEES

7 [r' ?1605) 2([® ()?UEE |22 pBR)2(0F) D2(l « - 1, ———1)7?°,
r'lcoll6e_81']1,#FEROKRE b“dﬁa.'ﬁt%m

8 [r' 721 6#"“9& 20 . -, ———1)?', r'lcoll6]'],#1 6 DIERE LTHE

9 [r' (1 61_7111) ,or' [c0116] 1, #1 6 DB E LT

10 [r'16[ ) :#@1", r' [c0116] 1,#1 6 DIFRE U Tl

11 [r'1 6(*%)7(—--—)' r [c0116] 1,#1 6 DIERE LTHE

12 [r' (%lf)?( D)7 (LBD$1E0)) FBRROCWRR)+()2(I22WT)2(D) 7 ( fmémb?“
ZBES) 7 (1) 2 ([ \c-.,———)H?Ur[mUﬁS]]H?&&Ohﬁtb?%ﬁt%

13

14 def _assert(r, s):

15  import re

16 # [print(re.subn(rr[@], rr[1], s)[1]) for rr in r]
17 print('BEBEI" + s + ']")

18 result = '’

19 for rr in r:

20 t = re.subn(rr[0], rrl1]l, s)

21 if t[1]:

22 if len(result.replace('0', '')): print('#&&E[" + s + "]")
23 s = t[0]

24 result += '1'

25 else:

26 result += '0'

27 # 1 = list(filter(lambda result: result[1l] > @, [re.subn(rr[@], rrl1], s)
for rr in rl))

28  print("#HBRE[" + s + '"]I\n")

29  # print([result[@] + '\n' for result in 11)

30 return len(result.replace('0', ''))

31

32

23 1if _name__ == '__main__

34 r = get();

35

36 print('F#H ——————————==========")

37

38

39 prlnt( P ——— ff@? ! )

40

41

42

43

44

47



EERILETIOJ 5L (regexpl8.py)

def get():
return [[r'1 8%, ', r'l[col18_topl'],
[r* (218) 2(f)2( )?) 2([ (1)?2(KE || > |8k ) « -, —) 1)?',

r'fcol18]'l]l,
[r' (218) 2()?2([——1)?2(ZDfh | ZDMEFICHEINEEMR) (F)?2([D O 1)?2(HKEE|

fe|ooE |8l « -, ——) 1)?', r'[col18]'],

[r (183G (B2l ()20 |22 88)2(l « -, ——) 1?7,
r'lcol18]'],

[r' ?1801) ?2([> (1)?(/mE 1w |22 88)2( « -, —1)7',
r'lcol18]'],

[rt 21884 2([ . -, ——1)?', r'[col18]'],

[r' (1 8ZDMFICRHEIREZENS) ', r'[coll8]'],
[r'1 8ZDftiFIcHEINRECENESDI=F. ', r'[coll8]'],
[r' (18&m) ', r'l[col18]'],

[r'18[ ) :#1"', r'l[col18]'], 1

def _assert(r, s):
import re
# [print(re.subn(rr[@], rr[1], s)[1]) for rr in r]
print('FAHE[I" + s + ']")
result = '’
for rr in r:
t = re.subn(rr[0], rrl1]l, s)

if t[1]:
if len(result.replace('0', '')): print('#&&E[" + s + "]1")
s = t[0o]
result += '1'

else:

result += '0'
# 1 = list(filter(lambda result: result[1] > @, [re.subn(rr[@], rr[1], s)
for rr in rl))
print("#ER[" + s + "]\n")
# print([result[0] + '\n' for result in 1])
return len(result.replace('0', ''))

if __name__ == "'__main__"':
r = get();
P rint( ! F';ﬁilé.‘ ——————— === )
prlnt( . I%%T ! )
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11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32

34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68

70

71
72

def get():
return [# (3) EfEHEI
[r* (3) ( ﬂ%ﬁl‘m ', r! [c0103 0]’ ]
[r'(?<!1) ‘f’t%l’ml?’)% N ———1?"', r'[colo3_0]1'],
[r' (3(fEE (K| 22=) Y, r! [c0103 01'1,
# (4) CLREE
[r' (4) Ftbht%[ . o, ———1?', r'lcole4_01'l,
[r' (4) ( ﬂ%l‘m )Y, r! [c0104 01"’ ]
[r'(?<!'1) ‘h%l‘mry)% N ———1?"', r'[coleo4_0]'],
[r (4( h%l‘bd’)’)% ) ', r! [c0104 0]1'1,
# (b) T L&
[r" (5) ( ﬁ”}b ?', r' [C01@5 0]’ ]
[r'(?<!'1)5(HEE|H|22E) .« - ———1?', r'l[colo5_01'1,
[r' (5 (= 6| >22E) ', r! [c0105 01'1,
# (6) fEF
[r' (6) (#|HEE)?", r'l[cole6_0]' ]
[r'(?<!T)6(HmE |/ >22E)[ .« - ———17?', r'[cole6_0]'1],
[r' (6 (& |H|>22E) ', r! [c0106 ol'l,
# (7)) K55
[r (7) ﬂ%ﬁl‘m )2, r' [c0107 01" ]
[r'(?<!1) -ﬁ%mpo% N ——17?', r'lcole7_0]1'l,
[r' (7 (& K| 22=) Y, r! [c0107 01'1,
# @)(9)%tbLA®%iti%
[r* (8) ( ﬁ%l‘f}b )2, r! [COl@S 0]’ ]
[r'(?<!'1)8 (& || 22&)[ .« - ———17?', r'lcoles_0l'l,
[r" (8( ‘h%l‘f»l’)’)% ) ', or! [c0108 el'l,
[r' (9) (W|Hw=)?", r'lcole9_ol' ]
[r'(?<!'1)9 (& || 22&E) « - 1, ——1?', r'l[cole9o_0]'l,
[r' (9 (FEE || 22E) ', r! [c0109_0]'],
])%tbtt%@ﬁm@f&ﬁ%t%tbtA@ﬁ%'E%
| #eE)?, ! [coll@ ol'l,
(= || 22E) 0 X ———]7', r'[collo_o]'l,
wE|H|22F)) Y, r'lcollo_0]'],
,‘f%%)?', r [colll 01'1,
o0F)[ . - e —]?', r'lcoll1_ol1'],
1(ﬁ*§|,‘f“ﬂ|’3’)§)) ', r'lcoli1_01'l,
1 )%tbtt;% RUOFDER

—_

ﬁ
Ok ~ &
j‘ﬁ__

EZEWeILE7O0 35 A
(regexpOther.py)

[r* (21 2) ?2[———]HERREIR?( ‘h%l‘mra’)% .o ———1?', r'[coli2_0]1'],

(12) BELREE <_5[ . , =172, r [c0112 el1'l,
[r' (12) &Etb?‘:t%[ . -, ———1?', r'[col12_0]1"'],
(12) (W|#&mE)2, r [c0112 0l1'l,
2 (/& || 22) -, — —]7', r'lcoll2_o]'l,
12 (%S || 22F)) ', r [col12_0]1'1,
13) %kctLric&cadl o -1, ——17?', r'[coll2_0]1'],
13) &_tbtt%[ .o, ———1?', r'lcol12_01'1,
13) (f|#&Hm=)?', r [c0113 el'l,
[r' 1 3(E || 22) « - 1, — _]7', r'fcoll3_0]'l],
13 (= |H:|22F)) ', r'lcoll3_0]'],
7) ERIERSTRELCBADBMEE
17)
17) (
17

1

(1| =), r! [c0117 el1'l,
(E || 22E) 0« - - —]?', r'lcoll7_0]1'l,

[r" ( = |f | ooE)) !, r [col17_0]1'1,

\l

def _assert(r, s):
import re
# [print(re.subn(rr[@], rr[1], s)I[1]) for rr in rl

print('FELI" + s + '1")
result = "'
for rr in r:
t = re.subn(rr[0], rrl1], s)
if t[1]:
if len(result.replace('0', '')): print('#&&E[" + s + "]")
s = t[0o]
result += '1'
else:

result += '0'

# 1 = list(filter(lambda result: result[1] > @, [re.subn(rr[0],

for rr in rl))
print("#ER[" + s + '1\n")
# print([result[@] + '\n' for result in 11)
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rr[1], s)



return len(result.replace('0’, ''))

if __name__ == '__main__"':

r = get();
p rint( ! ﬁ;ﬂﬁﬁ ——————— === )
pr]_nt( P T T T N —— I%%T ! )
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from datetime import datetime —_ -
from gensim import corpora 1%1‘7152$’EFHT—912“/ |‘1’Fﬁ‘27|:|7 Z
from gensim import models .

from gensim import matutils (TF IDF)
import MeCab

import math

import re

import sys

import os

def new_idf(docfreq, totaldocs, log_base=2.0, add=1.0):
return add + math.log(1.0 * totaldocs / docfreq, log_base)

def arg_below():

import argparse

p = argparse.ArgumentParser()

p.add_argument('-a', '—-anybelow', help='EZEHBELOH TFROIEE. RALDIEE
None T5|#ZEXD . 100 TMIE")

a = p.parse_args()

return a.anybelow

def main(any_below = 100, mode = 0):

max_cnt = 0

print('['+ datetime.now().strftime('%Y-%m-%d %H:%m:%S.%f"') + ']1FEHEL E
I ')

#HEEEDHIROED TR, NoneDZE(3100

below = int(100 if any_below == None else any_below)

#print(below)
HERITHINRY NIVH AT« LU b UER
dirname = ''
if any_below != None:
dirname = 'TFIDF'+ ( '' if below <= 0 else ' ' + str(below) ) + '/'

#os.makedirs(dirname,mode=511,exist_ok=True)

#RAPAB T 7AIVERADT 7AI

fis = open('./new_shibo_join_concat.tsv','r")

fos = open('./' + dirname + '05' + ( '' if max_cnt <= 0 else '_' +
str(max_cnt) ) + '_sogyouretu.csv','w')

fos2 = open('./' + dirname + '05' + ( '' if max_cnt <= 0 else '_' +
str(max_cnt) ) + '_total_wordnum.txt','w')

HEREHEEZE DFTHPRAHITY V7

gdic_fname = './' + dirname + 'new_shibo_join.dict'

#h—HFr 1 EEE
tokenizer = get_tokenizer()

print('['+ datetime.now().strftime('%sY-%m-%d %H:%m:%S.%f') + 'l N EE=F
n')

#h—U YU~ (BEITOXE. BEORITRI) DFHAH

rownum_1list,tokens_list = fetch_tokenslist(fis, tokenizer, max_cnt)

print('['+ datetime.now().strftime('%Y-%m—%d %H:%m:%S.%f') + '1OHEEZHK
T7')

o°

print('['+ datetime.now().strftime('%Y-%m—%d %H:%m:%S.
1ERLFRER ")
#h—O VU NEHELTEIN, BEOHEZHALADN. E—RTUDEX
if mode == 0:
#h—U 2R NEFHETIH
tokens_gdic = tokenslist2dic(tokens_list)
#HEBFREZRET
#save_gdic(tokens_gdic, gdic_fname)
elif mode ==
HHEBHRDFTHAH
tokens_gdic = load_gdic(gdic_fname)

f') + 'ldictionary

print('['+ datetime.now().strftime('%Y-%m—%d %H:%m:%S.%f') + 'ldictionary

ERHET ")

of

S.

o°
o°

print('['+ datetime.now().strftime('%sY-%m—-%d %H:
F")
#EEE%Zbag-of-wordsfExXD U X~ (corpus) ICZE#
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tokens_corpus = doc2bow(tokens_gdic, tokens_list)
print('['+ datetime.now().strftime('%sY-%m—%d %H:%m:%S.%f') + 'lcorpusfEm
®T')

print('['+ datetime.now().strftime('%Y-%m—%d %H:%m:%S.%f') + 'Imode fERf
%)
test_model = models.TfidfModel(tokens_corpus,wglobal=new_idf)

corpus_tfidf = test_model[tokens_corpus]
print('['+ datetime.now().strftime('%Y-%m-%d %H:%m:%S.%f') + 'lmode lfERIE
")

#OEHIBDEEBICODWTCHEEEOZE AT D
#new_dic = [{wordid:@ for word,wordid in dictionary.token2id.items()} for
c in id_list]
#HEHEDOBBBRZES
total_wordnum = 0
for word,wordid in tokens_gdic.token2id.items():
total_wordnum += 1
fos2.write(str(total_wordnum))
print('['+ datetime.now().strftime( 'SsY—%m—%d %H:%m:%S.%f') + ' XU ~)LHT
B )
for rowid,doc in zip(rownum_list,corpus_tfidf):
1il =[]
for word in doc:
lil.append((word[0],word[1]))

fos.write(data_make(rowid, 1il))
print('['+ datetime.now().strftime('%Y-%m-%d %H:%m:%S.%f') + '1 X7 K)LH 7]
®T)

fis.close()

fos.close()

print('['+ datetime.now().strftime('%Y-%m—%d %H:%m:%S.%f') + '1#&T LU=
I ')

#ENDOAKZEZ DAY VR
def data_make(rowid, 1il):
return rowid + '\t['+','.join([sogyouretu(kv) for kv in 1il])+'I\n'

#LFIdFEZERITIDOFICUTRT AY v R
def sogyouretu(kv):
return str(kv[0])+':"+str(kv[1])

#for rowdic,rowid in zip(new_dic,id_list):
#print(rowid+'\t',"', " '.join([str(k)+"', "+str(v) for k,v in
sorted(rowdic.items())]))
#print(rowid+'\t',"','.join([str(v) for k,v in rowdic.items()]))
#fos.write(rowid+'\t'+"',"'.join([str(v) for k,v in
sorted(rowdic.items())])+'\n")

#HIFOEIDXFICDOWTEEE O Z ANGZWEHA
texts_tfidf = []
for rowid,doc in zip(id_1list,corpus_tfidf):
text_tfidf = []
for word in doc:
text_tfidf.append(word[1])
texts_tfidf.append(text_tfidf)
print(rowid+'\t"', ", '.join([str(i) for i in text_tfidf]))

#HEREMdictionaryZ5HHAAT A Y v R
def load_gdic(fname):
return corpora.Dictionary. load(fname)

#ER Ufcdictionary2®REIT B AV v R
def save_gdic(tokens_gdic, fname):
tokens_gdic.save(fname)

#EREREITICMeCabZz ERAL. h—HAF A PF—EEEIZXAYV YR
def get_tokenizer():
return MeCab.Tagger('-r /etc/mecabrc -Owakati')
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H#HERIT T — 9 S HAH DD EEZT U CLIStEERT B XY Y R
def fetch_tokenslist(fis, tokenizer, max_cnt = 0):
cnt =1
1 = fis.readline();
rownum_list = []
tokens_list = []
while (cnt != max_cnt and 1 != ''):
rownum, sentences = remove_tagwords(l).split('\t")
rownum_list.append(rownum)
#h—NF1 X (1 XEZBEEICHDEIL fc—RTTH)
tokens = tokenizer.parse(sentences).split()
#h—o VU~ (BEITOXE., BEORITAS)
tokens_1list.append(tokens)
cnt += 1
1 = fis.readline();

return (rownum_list, tokens_list)

re_tagwords = re.compile(r'( [Zfir] )| ( [B&I] )| ( [RR] )| [B4E] )| ( [F35] )|
( [f®=] )|\n")
#EEITT —5 DIEEAZBEL SBRE
def remove_tagwords(sentences):
return re_tagwords.sub('', sentences)

#N—UVURANZHETIRTEAY YR
def tokenslist2dic(tokens_list):
return corpora.Dictionary(tokens_list)

#iFE%Zbag-of-wordsfEx D J A MNCEHT Z XY v K

def doc2bow(tokens_gdic, tokens_list):
return list(map(tokens_gdic.doc2bow, tokens_list))

if __name__ == "'__main__"':
any_below = arg_below()
main(any_below, 1)
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from datetime import datetime

from gensim import corpora ’I%W%’*L’Eﬁﬁ?—ﬁ’t’.“/ M’EEE?’EIﬁ?L\

from gensim import models
from gensim import matutils
import MeCab

import math

import re

import os

def new_idf(docfreq, totaldocs, log_base=2.0, add=1.0):
return add + math.log(1.0 * totaldocs / docfreq, log_base)

def main(mode = 0):

max_cnt = 0

print('['+ datetime.now().strftime('%Y-%m—%d %H:%m:%S.%f') + 'IFAHL K
EPD)

H#ERATHINRY MILEHFET« LT N ULER
dirname = 'LSI/'
os.makedirs(dirname,mode=511,exist_ok=True)

#m AR T FAILEBAT 7L
fis = open('./new_shibo_join_concat.tsv','r")

fos = open('./'+ dirname + ( '' if max_cnt <= 0 else '_' + str(max_cnt) )
+ '05_sogyouretu.csv','w')
fos2 = open('./'+ dirname + ( '' if max_cnt <= 0 else '_' + str(max_cnt)

) + '05_total_wordnum.txt','w")

HEREHFHEDTAHAHTY VT
gdic_fname = './new_shibo_join.dict'

#N—HF A EES
tokenizer = get_tokenizer()

print('['+ datetime.now().strftime('%sY-%m-%d %H:%m:%S.%f') + '1AHNEEZH
B

#h—U VU~ (BEITOXE. BEORITES) DOFAHAH

rownum_list,tokens_list = fetch_tokenslist(fis, tokenizer, max_cnt)

print('['+ datetime.now().strftime('%sY-%m-%d %H:%m:%S.%f') + '1AHBEE=HK
")

print('['+ datetime.now().strftime('%Y-%m—%d %H:%m:%S.%f') + 'ldictionary
{ERCREER ")

#hN—OVUANEHELT I, BIFEOHEEZHRALADD,. E—RTUDEX
if mode == 0:

#h—U VU2 N EFHELHR

tokens_gdic = tokenslist2dic(tokens_list)

#HEEBRZRE

#save_gdic(tokens_gdic, gdic_fname)
elif mode == 1:

#EEBROFTHIAS

tokens_gdic = load_gdic(gdic_fname)

print('['+ datetime.now().strftime("'%Y—%m-%d
ERUIET ")

o°
T
o°
3
o°
(0]
o°
2
+

'ldictionary

print('['+ datetime.now().strftime("'%Y—%m—%d
R

#EEEZbag-of-wordsfexXd U X & (corpus) ICZE#E

tokens_corpus = doc2bow(tokens_gdic, tokens_list)

print('['+ datetime.now().strftime( '%Y—-%m—-%d %H:%m:

w_T')

H:

o°
o°
o°

m:%S.%f') + 'lcorpusfERk

o°
wn
o°
2
+

"lTcorpustEnk

print('['+ datetime.now().strftime('%sY-%m-%d %H:%m:%S.%f') + 'Imodel{ERLH
B
test_model = models.TfidfModel(tokens_corpus,wglobal=new_idf)

corpus_tfidf = test_model[tokens_corpus]
print('['+ datetime.now().strftime('%Y-%m-%d %H:%m:%S.%f') + 'lmode lfERHE
")

#OEIHIRDOBEICODWTHEEEOAZENT S
#new dic = [{wordid:® for word,wordid in dictionary.token2id.items()} for
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c in id_list]

HHEDOHRBEBRZEE

total_wordnum = 0

for word,wordid in tokens_gdic.token2id.items():

total_wordnum += 1

fos2.write(str(total_wordnum))

#LSI mode Ui K2 RITHEME L fzcorpus DYERL

print('['+ datetime.now().strftime('%Y-%m-%d %H:%m:%S.%f') + ']1LSIFA%A"')

1si_model = models.LsiModel(corpus_tfidf, id2word=tokens_gdic,
num_topics=200)

1si_model.save('lsi_topics200.model")

#1lsi_model = models.LsiModel.load("'lsi_topics200.model")

corpus_lsi = 1si_model[corpus_tfidf]

print('['+ datetime.now().strftime('%Y—-%m—%d %H:%m:%S.%f') + '1LSI#KT ")

print('['+ datetime.now().strftime('%Y-%m—%d %H:%m:%S.%f') + '1 X7 ~LHT
BR')
vec_size =0
for rowid,doc in zip(rownum_list,corpus_1si):
1il =[]
for word in doc:
1il.append((word[0],word[1]))

if len(lil) !'= 0:
vec_size = len(lil)
fos.write(data_make(rowid, 1il))
fos2.write(str(vec_size))
print('['+ datetime.now().strftime('%Y-%m—%d %H:%m:%S.%f') + '1 X7 ~NLHT
®T)

fis.close()

fos.close()

fos2.close()

print('['+ datetime.now().strftime( 'SsY—%m—%d %H:%m:%S.%f') + '[#&T U=
—g_o I)

#ENDOAZEZ DAY YR
def data_make(rowid,1il):
return rowid + '\t['+','.join([sogyouretu(kv) for kv in 1il])+'I\n'

#tfidfEZERITIOFICULTIRT XY v R
def sogyouretu(kv):
return str(kv[@])+': "+str('{:f}'.format((kv[1]+1)/2))

#for rowdic,rowid in zip(new_dic,id_list):
#print(rowid+'\t',"', '.join([str(k)+"', "+str(v) for k,v in
sorted(rowdic.items())1))
#print(rowid+'\t',"', " '.join([str(v) for k,v in rowdic.items()]))
#fos.write(rowid+'\t'+"',"'.join([str(v) for k,v in
sorted(rowdic.items())1)+'\n")

#HROEIDXZRICDOWTEEE O E ANLZWEHA
texts_tfidf = []
for rowid,doc in zip(id_list,corpus_tfidf):
text_tfidf = []
for word in doc:
text_tfidf.append(word[1])
texts_tfidf.append(text_tfidf)
print(rowid+'\t"',"',"'.join([str(i) for i in text_tfidfl))

#HEREMdictionaryZHHAT A Y v R
def load_gdic(fname):
return corpora.Dictionary. load(fname)

#ER UTzdictionaryzREFEI B AV Y R
def save_gdic(tokens_gdic, fname):
tokens_gdic.save(fname)
#HIERERERITICMeCabZFERA L. h—HAFAP—EREBIT AV YR
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def get_tokenizer():
return MeCab.Tagger('-r /etc/mecabrc -Owakati')

#HIETT — Y ZRHARAHF DD EEE LT UListZERLT H AV Y K
def fetch_tokenslist(fis, tokenizer, max_cnt = 0):
cnt =1
1 = fis.readline();
rownum_list = []
tokens_list = []
while (cnt != max_cnt and 1 != ''):
rownum, sentences = remove_tagwords(1l).split('\t")
rownum_Llist.append(rownum)
#h—NF+1 X (1 XEEBEEICHEIL c—RITTH)
tokens = tokenizer.parse(sentences).split()
#h—U VU N (EEITOXE. BEDO RIS
tokens_list.append(tokens)
cnt += 1
1 = fis.readline();

return (rownum_list, tokens_list)

re_tagwords = re.compile(r'( [FF] )| ( [#E31] )| ( [RR] )| [BE] ) | ( (5] )|
( [f®=] )|\n")
#EENTT — 5 DIEERZBENSRE
def remove_tagwords(sentences):
return re_tagwords.sub('', sentences)

#h—O YV URANEHERMMIZAV YR
def tokenslist2dic(tokens_list):
return corpora.Dictionary(tokens_list)

#iEEZbag-of-wordsfEXX DU A MNCEET Z XY v R
def doc2bow(tokens_gdic, tokens_list):
return list(map(tokens_gdic.doc2bow, tokens_list))

if __name__ == '__main__"':

main(1)
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import sys

#sys.path.append('/home/bmiwork/ITEC") ﬁmﬁgﬁﬁ?—ﬁt’. 4 |\1’EEE7D75L\
from my_utils import exec_time (Word2Vec)

import MeCab

import re

from gensim.models import word2vec
from gensim import corpora

#from gensim import matutils
import numpy as np

import os

@exec_time.printer
def main(mode = 0):
max_cnt = 0

H#ER{THINRY NILBAKLT o LT N UERK
dirname = 'WORD2VEC/'
os.makedirs(dirname,mode=511,exist_ok=True)

#N—HF A EEE
tokenizer = get_tokenizer()

#RAPAB T 7AIVERDT 71
fis = open('./new_shibo_join_concat.tsv','r")

fos = open('./'+ dirname + ( '' if max_cnt <= 0 else '_' + str(max_cnt) )
+ '05_sogyouretu.csv','w")
fos2 = open('./'+ dirname + ( '' if max_cnt <= 0 else '_' + str(max_cnt)

) + '05_total_wordnum.txt','w")

#EBEHmode \DH ALY > 7

#vec_fname = './new_shibo_join' + ( '' if max_cnt <= @ else '_' +
str(max_cnt) ) + '.vec.pt'

vec_fname = "./WORD2VEC/entity_vector.model.bin"

#RTRICE DFRER 7 1&IN
rownum_list, tokens_list = fetch_tokenslist(fis, tokenizer, max_cnt)
#print(tokens_list[@])

if mode == 0:
#word2vec®Dmode LIcERER =2 E
model = fit_word2vec(tokens_list)
#mode 2 {R%F
save_model(model, vec_fname)
elif mode == 1:
model = load_model(vec_fname)

#ZITDOXEDONY MLEFELTHD
write_vector(fos, fos2, model, rownum_list, tokens_list)

fis.close()
fos.close()
fos2.closel()

#word2vecEZETILDFEHAH
def load_model(fname):
return word2vec.KeyedVectors. load_word2vec_format(fname, binary=True)

#word2vec FEETILDRE
def save_model(model, fname):
model.wv.save_word2vec_format(fname, binary=True)

@exec_time.printer
def write_vector(fos, fos2, model, rownum_list, tokens_list):
H#BENY NLEFEYUIEZXEXRY MLE UL TR BEDOE N
num_features = 200
for rowid, doc in zip(rownum_list,tokens_1list):
#print(rowid)
#print(doc[@])
#EEHE200RTONRY MLELTHALIEBD
vec_list = []
for word in doc:
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if word in model.key_to_index:
vec = model[word]
vec_list.append(vec)
fos.write(data_make(rowid, doc, vec_list))
#AoCHETRHRWEEDHNRY NLOFZER. ZDHZEIFZED ) X N Z1ER
if doc != []:
feature_vec = np.zeros((num_features), dtype= "float32")
for word in doc:
if word in model.key_to_index:
feature_vec = np.add(feature_vec, model[word])
#feature_vec = np.add(feature_vec, model.get_vector(word,
norm=True))
if len(doc) > 0:
feature_vec = np.divide(feature_vec, len(doc))
else:
feature_vec = []
#print(feature_vec)
fos.write(data_make2(rowid, feature_vec, num_features))
fos2.write(str(num_features))

#HENOERZEZ DAY YR
def data_make(rowid, doc, vec_list):

return rowid + '\t['+ ', '.join([sogyouretu(wordid,vec) for wordid, vec in
zip(doc, vec_list)])+']\n'

#EODERZEZEZ DAY v R
def data_make2(rowid, feature_vec, vec_cnt):
cnt_list = []
for num in range(vec_cnt):
cnt_list.append(num)
if feature_vec != []:
return rowid + '\t['+ ','.join([sogyouretu2(v,i) for v,i in
zip(feature_vec, cnt_list)])+']\n’
else:
return rowid + '\t[]\n'

#NT ML ZBITIERICEZ S XY v R
def sogyouretu(wordid, vec):
return str(wordid)+':'+str(vec)

#NT NLZBRITIFRICEZ DXV v R

def sogyouretu2(vec, cnt):
return str(cnt)+':"+str('{:f}'.format((vec+10)/20))
#return str(cnt)+':'+str(vec)

@exec_time.printer
def get_tokenizer():
#IRERRTICMeCabzERT 3
return MeCab.Tagger('—-r /etc/mecabrc —-Owakati')

@exec_time.printer
def fetch_tokenslist(fis, tokenizer, max_cnt = 0):
cnt =1
1 = fis.readline()
rownum_list = []
tokens_list = []

while (cnt != max_cnt and 1 != ''):
rownum, sentences = remove_tagwords(1l).split('\t")
#if(sentences != ''):

rownum_Llist.append(rownum)
#h—HFTAX (1 XBEZHEE L ICHEIL fc—RITRT)
tokens = tokenizer.parse(sentences).split()
#A MY T T —RKDERE
tokens = filter_stopwords(tokens)
#h—U YU~ (BEOXE. BEDORITEI)
tokens_1list.append(tokens)
cnt += 1
1 = fis.readline();

return (rownum_list, tokens_list)

re_tagwords = re.compile(r'( [F#F] )| ( [BE&] )| ( [RR] ) [ [BHE] ) | ( [HE] )|
( [®=] )|\n")
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def remove_tagwords(sentences):
return re_tagwords.sub('', sentences)

stopword_1list = None
def filter_stopwords(tokens):
global stopword_1list
if stopword_list is None:
stopword_list = []
#ANY T T — R OFAHRP
fis = open('./stopwords.txt','r")
re_comment = re.compile(r'™\skx(#.x|)$")
1 = fis.readline()
while 1:
if not re_comment.match(1l):
stopword_list.append(l.rstrip('\n'))
1 = fis.readline()
fis.close()
return [word for word in tokens if word not in stopword_list]

@exec_time.printer
def tokenslist2dic(tokens_list):
return corpora.Dictionary(tokens_list)

@exec_time.printer

def fit_word2vec(tokens_list):
#word2veclc K B EEDFH
return word2vec.Word2Vec(tokens_list)

if __name__ == "'__main__"':
main(1)
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#1/ /bin/ thon3 [ L » S
% e coding: utf-8 e BMFEBAT -5ty MERTAT S L

#:

#== [embedding.py] ==#
== version.1l.1 ==
== 2022/03/28 ==

#—_ __i't

import pandas as pd

import numpy as np

import argparse

from argparse import RawTextHelpFormatter
import ast

import MeCab

from gensim.models.doc2vec import Doc2Vec, TaggedDocument
import tensorflow_hub as hub

import tensorflow_text

import re

import os

import ssl
ssl._create_default_https_context = ssl._create_unverified_context

# Embedding? 5 X{ERY
class Embedding(object):
def __init_ (self, rawdata_path, delete_symbol, params, mode, output_path):

self.rawdata_path = rawdata_path # ANT7AILDINK
self.delete_symbol = delete_symbol # TRERMBITIFICHIBR T 2585
self.params = params # doc2vecZxfERT B D5|# (FFE

self.mode = mode
self.output_path = output_path

deflfheck_mode(self):
modeDiER, doc2vecZEFERAY SEIE. mode&params['dm' 1A=L TVWRWETST—ER
o ;I)alnl‘ams['dm']%EQEb"CL\?Z;L\%éL&K modehiparams['dm' ] D5#& %%
if self.mode==2:
print('mode: Universal Sentence Encoder')

elif self.mode==0 or self.mode==1:
if 'dm' not in self.params:
self.params['dm']=self.mode
if self.mode==0:
print('mode: doc2vec PV-DBOW')
elif self.mode==1:
print('mode: doc2vec PV-DM')

elif 'dm' in self.params:
if self.params['dm'] == self.mode:
if self.mode==0:
print('mode: doc2vec PV-DBOW')
elif self.mode==1:
print('mode: doc2vec PV-DM')
else:
raise KeyError('mode&params ["dm" 1A=L TWEEA. mode: {},
params["dm"]: {}'.format(self.mode, self.params['dm']))

else:
raise ValueError('——mode 0~2H5EATLZE W {0: doc2vec PV-DBOW, 1:
doc2vec PV-DM, 3: Universal Sentence Encoder}')

def get_data(self):
rawdata®FZdrihde ANT7 7AILIE—FIBIcid. ZHBICTFA RN T—7 %58, hedder &
Uindex_colDEW. tsv7 71 )b,
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# A7 7AIEANERRZIHEE. read_csv() DI HEREZZEFET B

src = pd.read_csv('{}'.format(self.rawdata_path), delimiter='\t',
index_col=None, header=None, names=['id', ‘'data'l)

# TFANT—FHNaNDH > Z)LiT% HlkR

src_data = src.dropna(how="any")

sentences = []
for text in src_datal['data']:
# TEFRANADERDES ZHIBR
text = re.sub(r'{}'.format(self.delete_symbol), '', text)

# ZETOTFFANETER(JURRN)EUTsetencesic ZRITY R b & LTI
text_list = text.split(' ')
sentences.append(text_list)

return src, sentences

def doc2vec(self, sentences):

doc2vecic & BT ML, Mecab ZRWTHREBREBTLE. ETILEERT %,
token = []
tokernizer = MeCab.Tagger('-Owakati') # MecabDZRESRMRMT D5 | #ERE

# setencesHDEER(TFRAN) ZHREREN
for s in sentences:
token.append(tokernizer.parse(s[0]).split())

# UTUIEERDSE

# 5 src_data.iloc[0,1] : [~ES] DNABREICTHRAESR,

# 5l sentences[0] : ['fESDNAREICTAARER"]

# % token[0] : ['tE', 'DNA"', '#®#&E', 'lcT', 'KA', "HER']

# token%zdoc2veclcFARAFEE B IC KR
documents = [TaggedDocument(doc, [i]) for i, doc in enumerate(token)]

#hashBEHOIEE ETFTINOBREEZEDLHIC/N\Y ¥ 1 {EZEE
import hashlib
hashfxn = lambda x: int(hashlib.md5(str(x).encode()).hexdigest(), 16)

# doc2vecET/LEE
model = Doc2Vec(documents,hashfxn=hashfxn, xkself.params)
vectors = [model.docvecs[i] for i in range(len(sentences))]

return vectors

def UniversalSentenceEncoder(self, sentences):
Universal Sentence Encoderic &3~ ~LikH, #
S512RTTNY ML HTT B,
# tensorflow hubhS5ZEBEHETILDFHAH
USE_model = hub. load(
"https://tfhub.dev/google/universal-sentence-encoder-multilingual/3") #
2022/01FF 5, latest version:idver.3
vectors_all = USE_model(sentences)
vectors = [i for i in vectors_alll]

\\\

RRBITEITHOIETILZBEL.

return vectors

def output(self, src, vectors):
id EXRV MLZEFEEL. BHAT—% 7L —L%{ER. output_pathh"'None" DH&EIET 71
JLHEAST IR,
src_data = src.dropna(how="any")
src_data_vec = src_data.assign( vecs = vectors)
df pd.merge(src, src_data_vec, how="left", on = "id")
df = df.loc[:, ['id','vecs']]

# output_pathZEEEBELIEOHT7 7MILEHNIT S
if self.output_path=="None':
pass
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else:
output_path = self.output_path
df.to_csv(output_path, sep='\t', header=False, index=False)

return df
def main():
parser = argparse.ArgumentParser(prog="'embedding’,
description="'
\n'
'"PROGRAM NAME: TRIEZZEBLZTFX NOFEHME 700 5 L\n'
'"HME: BASHE(HASE) CRESNTFAMNEF ORIz mE T2
A4 %46 \n'
'doc2vecE/zlxuniversal setence encoderZzZFHWTARY N
%, \n'

\n',
usage='$ python3 embedding.py [-m] [-rp]l [-ds] [-

params] [-opl\n',
formatter_class=RawTextHelpFormatter,
add_help=True)
parser.add_argument('—-mode', '-m', type=int, required=True,
help="'E7/LDEFER\n'
'mode:{0: doc2vec PV-DBOW, 1: doc2vec PV-DM, 2:
Universal Sentence Encoder}')
parser.add_argument('--rawdata_path', '-rp', type=str, required=True,
help=' AA7 7AILDICZ. \n'
"ABT7 7AIE—FBIcid. ZHBIRTFANT—FEET.
hedder®& & U*index_colDEW, . tsvZ 71IL")
parser.add_argument('—-delete_symbol', '-ds', type=str, default='[ [] . .
01",
help="'RERETREDHIERL ZWEEE\n'
"HIBRUTcWEESZ Ay ORICANL 1. strETEd\n'
'e.g. [PROGRAM] —-delete_symbol "[ [] .. T O 1"")
parser.add_argument('--doc2vec_params', '—params', type=str, default="
{'vector_size':2}",
help='doc2veclc 52 %518 ZstrB TANT 3. SIHFEY 21—
IR TEHERICE BRSNS .\n'
'''e.g. [PROGRAM] -params "{'vector_size' : 2,
'window': 2, 'min_count': 1, 'epochs': 10}"''')
parser.add_argument('——output_path', '-op', type=str, default='None',
help="HA7 71 I)LD/XZ. \n'
"WAHT7 FAILIE—FIBIcid. ZHBIIRY MLT—9 %25,
hedder& & U'index_coldEW . tsv 7 71 /L\n'
'S EES XV, £ild " None" 2525 &7 7AILIFEAST A
(AR
args = parser.parse_args()

# SIEZITELD

mode = args.mode

rawdata_path = args.rawdata_path
delete_symbol =args.delete_symbol

params = ast.literal_eval(args.doc2vec_params)
output_path = args.output_path

# A VRY > AER

E = Embedding(rawdata_path, delete_symbol, params, mode, output_path)
# mode & params DHER

E.check_mode()

# AA7—7% (rawdata) FmA A H
src, sentences = E.get_data()

# doc2veclc K3 FET
if mode==0 or mode==1:
vectors = E.doc2vec(sentences)
# USEIC L BE1T
elif mode==2:
vectors = E.UniversalSentenceEncoder(sentences)

# HABRT—45 7L —LER
df = E.output(src, vectors)
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import pandas as pd N \ —
imgort Egboost aspxgb ﬁfﬁ%ﬁ%“-’g7’ﬂﬁ L
import numpy as np 1 1

import pickle (flt_and_predlct_xgboost.py)
from sklearn.model_selection import train_test_split

from sklearn.metrics import accuracy_score

from matplotlib import pyplot as plt

from sklearn.metrics import confusion_matrix, roc_curve,

precision_recall_curve, auc

from sklearn.model_selection import GridSearchCV

from scipy.sparse import 1il_matrix

from datetime import datetime

import sys

import os

def arg_parse():
import argparse
p = argparse.ArgumentParser()
p.add_argument('-a', '—-—anyfolder', help='E{T5INT NLESBETAILT")
p.add_argument('-g', '-—gpuid', help='{EFJ ZGPUDID (T 7 #J)L~(E0")
p.add_argument('-y', '—--year', help="ZZEHET—FEF")
a = p.parse_args()
return (a.anyfolder, a.gpuid, a.year)
def main(any_folder='."', gpuid=0, year=2020):
print('[' + datetime.now().strftime('%Y-%m-%d %H:%M:%S.%f') + '] ' +
__file__ + ' start')

# S DIREE

if not any_folder: any_folder = '.'

print('[' + datetime.now().strftime('%Y-%m-%d %H:%M:%S.%f') + '1 AATT
ILE .. /07 _ff&{E#REmbedding/" + any_folder + '1")

print('[' + datetime.now().strftime('SY—%sm-%d SH:%M:%S.%f') + '] HA%ET+
JLZ[./" + any_folder + '/RESULT/' + year + '/1")

#os.makedirs('./RESULT/"' + any_folder, exist_ok=True)

# BATITINER D 7 1 )L A &

# rows = 81688 # 1T

# cols = 1579 + 2736 # Rjt#X

fis = open('../07_fI&IE¥Embedding/' + any_folder +
'/learningData_smatrix_rowcolnum_' + year + '.txt', 'r')

rows = int(fis.readline())

cols = int(fis.readline())

fis.close()

print('[" + datetime.now().strftime('SsY-%m—%d %H:%M:%S.%f') + '] WRITH
[' + str(rows) + '] WHRARY MLE[' + str(cols) + ']")

# BR1TH) 7 7 A )L & A

smatrix_fname = '../07_f{I&FIE#HEmbedding/' + any_folder +
'/learningData_smatrix_' + year + '.txt'

X, y = load_sparse_matrix(smatrix_fname, rows, cols)

# test_size=0.2 2FD>550.8%FEH. 0.2%=T7AMNAICHET S

X_train, X_test, y_train, y_test = train_test_split(X, y, test_size=0.2,
shuffle=True, random_state=42, stratify=y)

# FEHRDO.8TEE
# NOTE: tree_method. gpu_idDEEZ TSI & TCPUNMERZIND L SICES,
# - Best Estimator
clf = xgb.XGBClassifier(base_score=0.5, booster='gbtree',
colsample_bylevel=1,
colsample_bynode=1, colsample_bytree=1, eta=0.25, gamma=0,
gpu_id=gpuid, importance_type='gain',
interaction_constraints='",
learning_rate=0.25, max_delta_step=0, max_depth=14,
min_child_weight=0.05, monotone_constraints='()",
n_estimators=2000, n_jobs=1, num_parallel_tree=1,
random_state=0,
reg_alpha=0, reg_lambda=1, scale_pos_weight=1, subsample=1,
tree_method='gpu_hist', use_label_encoder=False,
validate_parameters=1, verbosity=None, eval_metric='logloss"')
print('[' + datetime.now().strftime('%sY-%m-%d %H:%M:%S.%f') + '] fit
start")
clf.fit(X_train, y_train)
print('[' + datetime.now().strftime('%sY-%m-%d %H:%M:%S.%f') + '] fit
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end')

# ETIEGFRE

pickle.dump(clf, open('./' + any_folder + '/' + year + '/model.pkl',
‘'wb'))

clf = pickle.load(open('./' + any_folder + '/' + year + '/model.pkl"',
‘rb'))

# TANEDO.2THRIE

print('[' + datetime.now().strftime('%Y—%m-%d %H:%M:%S.%f') + '] predict
start')

# pred = clf.predict(X_test)

pred_p = clf.predict_proba(X_test)

print('["' + datetime.now().strftime('%sY-%m-%d %H:%M:%S5.%f') + '] predict
end"')

# fEREAN
report = []
for i in range(21):
t = (1/20)
pred = (pred_pl[:, 1] > t).astype(int)
print('—————===== EifE[' + str(t) + '] =====——- ")
accuracy = print_accuracy(y_test, pred)
tp, fp, fn, tn, precision, recall = print_confusion_matrix(y_test,
pred)
report.append([t, accuracy, tn, fp, fn, tp, precision, recall, tp+fp,
(tp+fp)/ (tp+fp+fn+tn)])
write_id_tf(X[:, 0], y_test, pred, t, any_folder, year)

if any_folder == 'TFIDF_100":
print_importances(clf, any_folder, year)

y_score = pred_pl[:,1]
make_pr_curve_pict(y_test, y_score, any_folder, year)
make_roc_curve_pict(y_test, y_score, any_folder, year)

write_report(report, any_folder, year)
write_pred_score(X[:, 01, y_test, pred_pl[:, 11, any_folder, year)

print('[" + datetime.now().strftime('SsY-%m—%d %H:%M:%S.%f') + '] ' +
__file__ + ' end')

def load_sparse_matrix(fname, rows, cols):
# BTN 7AW EA =T
fis = open(fname, 'r')

X_1il = lil_matrix((rows, cols - 1), dtype=float)
# y_1il = lil_matrix((rows, 1), dtype=float)

y = [0] *x rows

# BT 7 7 1) DFRHIAH

1 = fis.readline()

rownum = 0

while 1 I= '":

1_smatrix = sogyoretu2smatrix(l.rstrip('\n'))
for k, v in 1_smatrix.items():
if k !'= cols - 1:

if len(v) != 0: # DOC2VEC BRTHIT—% T —X%K
X_lillrownum, k] = float(v)

else:
print("[ERROR]: '' can not be converted to float @" +

str(rownum))
X_lillrownum, k] =0
else:
## y_lillrownum, @] = float(v)
y [rownum] = float(v)

1 = fis.readline()
rownum += 1

fis.close()

# sparsemSnumpy.ndarrayicZ i
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X = X_lil.toarray()
#y =y lil.toarray()
return X, y

def sogyoretu2smatrix(sogyoretu):

01_sogyouretu.csvDEITIIREXFI Z BT Ddictionarylc Z#id %,

# SEERED[1ZAT

# ,CAZTUy kUkvEY MNcIDH 2

# 1 TCAZT) vy hUTkey&valuez i3

return {int(kv.split(':"')[0]1): kv.split(':')[1] for kv in
sogyoretul[l:-1].split(',"') if kv != ''}

def print_accuracy(act, pred):

BEZENT 2,

acc = accuracy_score(act, pred)
print('-———— Accuracy')
print(acc)

return acc

def print_confusion_matrix(act, pred):

BAEIEHNT 2,
cm = {}
cm[(0,0)
cml(0,1)
cm[(1,0)
cm[(1,1)
for t, p in zip(act, pred):
eml(t, p)] +=1

(SIS

print('-——— Confusion Matrix')
print('(act, pred): ', cm)
print('-——— Confusion Matrix')

print(pd.DataFrame(confusion_matrix(act, pred, labels=[0, 1]), columns=
["pred_0", "pred_1"1, index=["act_0", "act_1"1))

p, r = print_pr(cm[(1,1)], cm[(0,1)], cm[(1,0)], cm[(0,0)])
return (cm[(1,1)], cm[(0,1)], cm[(1,0)], cm[(@,0)], p, r)

def print_pr(tp, fp, fn, tn):
p = tp/(tp+fp) if (tp+fp)!=0 else 1
print('-———— Precision')
print(str(p))
r = tp/(tp+fn) if (tp+fn)!=0 else 1
print('-———— Recall')
print(str(r))
return (p, r)

def print_importances(clf, any_folder, year):

BEEZHNT 5,
import os
from gensim import corpora

dict_fname = '../07_fI&=IE#HKEmbedding/' + any_folder +
'/new_shibo_join.dict"'
tokens_dict = None
if os.path.exists(dict_fname) and os.path.getsize(dict_fname):
tokens_dict = corpora.Dictionary.load(dict_fname)

icdcode_fname = '../06_t&mWFERAEART—4 /ICDList/acme_kari_code_sort_' +
year + '.txt'

icdcodes = ['certificateKey', '&E#n', "1E50'1]

fis = open(icdcode_fname, 'r')

lines = 0
1 = fis.readline()
while(l !'= '"):

icdcodes.append(l.rstrip('\n"))
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L = t1s.readline()
lines += 1

fis.close()

icdcodes.append('Flr7Z 7 (1)")
icdcodes.append (' FTOIUIKROFIRE (116) ')
icdcodes.append (' (i) EEREADLZHE(1) ")
icdcodes.append (' FiH(8) ")

icdcodes.append('f#Z 7> (1) ")
icdcodes.append (' SOOI KR UFTRE (116) ")
icdcodes.append(' (F&) EEREANDLE(L)")

(

(

(

(

(

E

icdcodes.append('FEEDIELE(2) ')

icdcodes.append('EENFEELIEE(8)")

icdcodes.append('GENFKELCEE(5)")

icdcodes.append('EENKELcE Z2DFERI(1) ")

icdcodes.append('EENKELUE 2 ZDMDEER(40) 1)

icdcodes.append('EEFKEIEAT(8) ")
(
(
(
(
(
(
(
(
(

icdcodes.append('EEHFESH(12) )
icdcodes.append('EEF4EAT(18) ")
icdcodes.append (' FERZRRR(120) )

icdcodes.append(' () HEEDLHE(L)")
icdcodes.append(' TE#I1FERFETORIL: DFRE - EIRDEM(84) ')
icdcodes.append( ' EERADLZE (1) ")

icdcodes.append(' ZDMFEINEZER(60) ")

icdcodes.append( ' BEERNAFTERE(L) ")

icdcodes.append( ' fEE1(1024) ")

lines += 25
imps = sorted(enumerate(clf.feature_importances_), key=lambda kv: —kv[1])
print('-——— Feature Importances')
for k, v in imps:
print(str(k) + '," + (icdcodes[k] if k<lines else tokens_dict[k-
lines] if tokens_dict else '=') + ',' + str(v))

def make_pr_curve_pict(y_test, y_score, any_folder, year):

# PREVS

precision, recall, thresholds = precision_recall_curve(y_true=y_test,
probas_pred=y_score)

# wRE70Ov K

plt.figure(1, figsize=[12.8, 9.6], dpi=100)

plt.figure(1)

plt.plot(recall, precision, label=(any_folder if any_folder != '.' else
'precision_recall curve') + ' (AUC = %0.3f)"' % auc(recall, precision))

for i in range(21):

close_point = np.argmin(np.abs(thresholds - (i * 0.05)))
plt.plot(recalllclose_point], precision[close_point], 'o')

# INIIRETBML 7 71 ILHEA

plt.plot([0,1], [1,1], linestyle='—-', label='ideal line')

plt.legend()

plt.xlabel('recall"')

plt.ylabel('precision"')

plt.set_title=('P-R Curve')

fname = './' + any_folder + '/' + year + '/PR-Curve.png'

plt.savefig(fname)

print('["' + datetime.now().strftime('SsY-%m-%d %H:%M:%S.%f') + '] #ERZHH
LEULM [V + fname + ']")

def make_roc_curve_pict(y_test, y_score, any_folder, year):
# ROCEYS
fpr, tpr, thresholds = roc_curve(y_true=y_test, y_score=y_score)
# wRE7Ov K
plt.figure(2, figsize=[12.8, 9.6], dpi=100)
plt.figure(2)
plt.plot(fpr, tpr, label=(any_folder if any_folder != '.' else 'roc
curve') + ' (AUC = %0.3f)"' % auc(fpr, tpr))
for i in range(21):
close_point = np.argmin(np.abs(thresholds - (i % 0.05)))
plt.plot(fprlclose_pointl, tprlclose_point], 'o")
# INIREZEBIMLT 70 ILHT

plt.plot([0,0,1], [0,1,1], linestyle='--', label='ideal line')
plt.plot([0, 1], [0, 1], linestyle='--', label='random prediction')
plt.legend()
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PLL. XLdDELL 1dLl5E pusSLLLvVE TdLelrrn) )

plt.ylabel('true positive rate(TPR)"')

plt.set_title=('ROC Curve')

fname = './' + any_folder + '/' + year + '/ROC-Curve.png'

plt.savefig(fname)

print('[' + datetime.now().strftime('%sY-%m-%d %H:%M:%S.%f') + '] #HER=EZHN
LEUMo [' + fname + ']"')

def write_report(report, any_folder, year):

fname = './' + any_folder + '/' + year +
'/fit_and_predict_xgboost_report.csv'

fos = open(fname, 'w')

for 1 in list(zip(x*report)):

fos.write(', '.join([str(f) for f in 11) + '\n')

fos.close()

print('[" + datetime.now().strftime( 'SsY-%m—-%d %H:%M:%S.%f') + '] #EEZHH
LEUo [' + fname + ']")

def write_id_tf(ids, act, pred, ikichi, any_folder, year):

fname = './' + any_folder + '/' + year +
'/fit_and_predict_xgboost_id_tf_ikichi_' + str(ikichi) + '.csv'

fos = open(fname, 'w')

for i, a, p in list(zip(ids, act, pred)):

fos.write( '{:.0f},{:.0f}, {:.0f},{}".format(i, a, p, a==p) + '\n')

fos.close()

print('[" + datetime.now().strftime('SsY-%m—-%d %H:%M:%S.%f') + '] #EEZHH
LEUR [' + fname + ']")

def write_pred_score(ids, act, pred_score, any_folder, year):

fname = './' + any_folder + '/' + year +
'/fit_and_predict_xgboost_pred_score.csv'

fos = open(fname, 'w')

for i, a, p in list(zip(ids, act, pred_score)):

fos.write( '{:.0f},{:.0f},{:.5f} . format(i, a, p) + '\n')

fos.close()

print('[" + datetime.now().strftime('SsY-%m—%d %H:%M:%S.%f') + '] #EEZHH
LEUo [' + fname + ']")
if __name__ == '__main__"':

any_folder, gpuid, year = arg_parse()

main(any_folder, gpuid, year)
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